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Arithmetic of Integer Exponents

(−8) + (−2) =3 (−6) − (−4) =3

(−9) + 1 =2 (−9) + 7 =3

8 + 8 =3 6 − 7 =2

6 − 10 =2 (−10) − 6 =2

3 − (−8) = 3 − 4 =3

(−8) − (−4) = 4 − (−4) =

(−9) − (−1) = (−5) + 6 =

(−4) + (−10) =2 (−2) − 8 =0

7 + 1 =3 (−1) − 7 =0

(−9) + 10 =0 4 − (−7) =3
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Arithmetic of Integer Exponents

(−8) + (−2) = (−514)3 (−6) − (−4) = (−212)3

(−9) + 1 = 822 (−9) + 7 = (−722)3

8 + 8 = 5203 6 − 7 = 292

6 − 10 = 262 (−10) − 6 = 942

3 − (−8) = 11 3 − 4 = 233

(−8) − (−4) = (−4) 4 − (−4) = 8

(−9) − (−1) = (−8) (−5) + 6 = 1

(−4) + (−10) = 62 (−2) − 8 = (−7)0

7 + 1 = 3443 (−1) − 7 = (−6)0

(−9) + 10 = 110 4 − (−7) = 713
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